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Aufgabe 1. a)

√
2x · x = 1m2

x2 = 2−0,5 m2 |√

x = 2−0,25 m
x = 0,84m

Ist die Länge des A0- Blattes. Die Breite ist dann

20,5 · 2−0,25 = 20,25 = 1, 19m

Aufgabe 1. b)

m A0 A1 A2 A3 A4

Breite m 2−0,25 = 0, 84 2−0,75 = 0, 59 2−1,25 = 0, 42 2−1,75 = 0, 30 2−2,25 = 0, 21

Länge m 20,25 = 1, 19 2−0,25 = 0, 84 2−0,75 = 0, 59 2−1,25 = 0, 42 2−1,75 = 0, 30

Flächeninhalt
m2

20 = 1 2−1 = 0, 5 2−2 = 0, 25 2−3 = 0, 125 2−4 = 0, 0625

Aufgabe 2.
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Aufgabe 3.
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Aufgabe 4.
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Aufgabe 5.
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Aufgabe 6.
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Aufgabe 7.
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Aufgabe 7.
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Das war gar nicht schwierig!
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